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Note: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C & D to

each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in
front of each question with Marker or pen ink on the answer sheet provided.

1.1. A software that faciliates programmers in writing computer programmes - tamu"éfrlf uy—gfﬁf VA /:le.( A1

is known as e bl e

(A) Compiler ;l;r (B) An editor %! () An IDE § fd;dl 7\ D A Debugger ;d 3
2. Forinitializing a varible, we use operator. -L/'WWI//J/ (‘ Al Sy Lt:’“*)}"‘..f 2

¢ g
(A) = B) - = {C) @ /’ 7
. \
3. Which operator has the highest precedence among the following?” A\\ \ \‘Z.eabc.wféxcf// e 3
% \ T

) . @) I @ N =\ @ \i y
4. What will be the value of ' | after the given statement ﬁoqrf\ 5.0/2.04 9 frbﬁlﬂJ ] 'Méta’f?ﬂj; 4

(A) 2% - ,,»\z 5 © i \ s(m / 2

g

5. An if statement inside another if stg(ement is called X;—' structure. q}> U/ /é&/r;/—’ B VI

(A) Nested &= ({) / Boxjd f‘:ﬁ'@ r\ Re’;{eated\.&:-y D) Decomposed wfu’ 3
6. What will be the /gatnyt of the following code? / ‘.’fﬂy’.._*«;_uilu( 5;0’., ity B

/N ™~ |
TN d (\\‘ )
/ \
(’/’A \.‘\ \\‘. pi’lnt f’f';f] u .
\ . r"“““”’"" ‘
\ X i _Alse
N\ \ :
N\ printf("O"),

(A) 0 B) >49'1 © 0" (D) &

7. __structure allows repetition of g'set of instructions. s m)mé{ i_l/;ugzt,fa.;féayq,%f;’r'__
y % o b o>

(A) Loop (B) Condtional b5~ (C)  ~ Control Ji (D) Data &3
8. An array index starts with: :q_th:;JgElb’.é_zf 8

A) -1 (B) 1 ©) 0 (D) 2
9. If there are three return statements in the function body, ____ of them will AL u)/::) j:.:ufu.fd 5@056/; 9

be executed. —JJ-% —

(A) 1 (B) 2 © 3 (D) 4
10, charcd () {return 'a}. In this function "char"is ___. = N "char" s uﬂj (:ﬂchar cd ( ) {return 'a’} .10

(A) Body (31 (B) Retumn type obejzs (C) Array &1 (D)  Arguments ST
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2. Write short answers of any four parts of the following: (4x2=8)

i. Define compiler.
i. Why do we need a programming environment? -
jii. Write any four names of IDE.

iv. Identify erros in the following code: printf ( "Hello )

v. What is the use of modulus operator?
vi. What is the difference between == operator and = operator?

1. Write short answers of any four parts of the following: 4)(?‘@}\
i. Define control statement.

ii. Why we need selection statement?

iii. What is sequencial control?

v. What is data stru Tj\fs?\
vi. Declare an arr that camstore any ten

4. Write shorf’ Uanswers of ahy\four parts of the foilowmg }A =8)
i. Write the output of t}e\followmg ode: AAortint 156, i <=s; i++4)

. x ./ﬁ,("KARACHl\n")

ii. Find the errors in the follo;ﬂng code:\\ or (int i==1 ; i<6; i --)
printf ( "%d" |, i)

\”\ \\7

iii. What is function defining? e F
i g

iv. What is argument in function? %’/

v. What is meant by return type of function?

vi. What is divide and conquer rule?

Section-ll
Note: Write answers of any two questions from the following: (8x2=16)
5  Define constant and explain different types of constant. (2+6=8)

6. Describe printf() and scanf() uses in C-Language. (8)

7. Write a program in C-language that displays the table of 7. (8)
50-10-A
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Note: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C & D to

1.1,

10.

each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in
front of each question with Marker or pen ink on the answer sheet provided.

An array isa ____ structure. | e Ay e A
(A) Loop «# ®) Contol Js  (C) Data &3 (D)  Conditional 43~
What is the index number of last element of an array with 7 elements? JSM \J—filfdgdi Tl Nl 6T 2
g ~
@ 7 (B) 5 ©) f.f’s \(®) 3
T s
A function cannot return more than ____ values. ; ;.:"/ _CQ/WMLJ‘;_@*:’J 3
‘ f
(A) 1 (B) 2 /'(e)"\\ (D) \\ 4
NG
___means to transfer the control to another functlon f/ M tf/‘"ifu* u"a\g! ..)fbf e 4
(A) Defining WAt Rewriting J}bu {C) @udmg 3 »ﬁf (D) / Q/alling My
"
The extension of header file is: f,,f %\\ \& ’/,: \ ‘i N~ ,d:dﬂu“"c JJ’ bkt 5
V' i i
@) S (O Qe | o
" % | ;f
___are the values that do no\ jhangp dur ole extension. :‘f / I x Ln&&rl/’:/fu*" o B

Constﬁnts J"P ¥/ \(C) / Stnngs // (D) Comments J"'f

»:'

(A) V»arlab}e _u/" (B)

Which of/ the followm\g\s valid line of code? % !': /’ /-3 ?q—gcfﬂddftf e Uiyl T
(A) w mt‘x 30; \‘\ (B) line= rEnls isa Ime, (©) float = 4.3; (D) Chargrade =
\-.\'\ ‘?\. i 4
Scanf() is an example.of Fuqctton. v c..dt“/...ﬁJu'G Scanf() 8
\‘\. A - l*
A) 1 inputegt N\ (52‘;:? Output g (C) Logical O O)  Math 5°L
; ’ = =5 s b 4TS YO
What will be the output of fglfowﬁag code? mtm=0,n=9; ?Jxk(_f.,u: lJ ::U.’chu 9
&« if (m%n>1)

printf("Success");
else
printf("Looser") ;

(A) Success (B) Looser (C) "Success” D) "Looser"
A set of multiple instructions enclosed in braces is called a___. s bl b lenbic Lligiel 10
(A) Box UL ) List &’ ) Block St ©)  Joboz

o 51-10-A
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Section.! JiLe
2. Write short answers of any four parts of the following:  (4x2=8) wz;‘:;//,-"dLB/?L”ZIJ"PG—L;;LL;J‘;EJJ 2
i. Differentiate between constant and variable. -L,f/ugﬁ)uﬁ L Sy
ii. Why do we use comments in programmin;;? ?ujé'_.fdb}iu.d’ ' u-‘-..ﬁi/:{ﬁ i
i, What do you mean by variable initiafization? S e 7 WES S i
iv. What are format specifiers? St LA F e v
v. What is use of \n? - e JeFISE\n v
vi. Find error(s) in following code: : printf(*Name/t" Ali): ’ /‘\y/w &S S 5n Vi
3. Write short answers of any four parts of the following:  (4x2=8) { { 2= 2 a_dfc.‘ﬁd’;bu 3

i, List different types of control statements in C Language. \.s Ul L ety Sl |
O R

ii. Identify errors in the following code:

il. Write down the output of following code:

R~ s f/f7¢;L, T35z i

<& \\
s \ { /
P }
.‘/ \\

/ : I
; 7 ? " #* b1 n¥ 2
iv. Draw the flow chart of if statemént_;‘ i /,f af b:.:«;g;"fw if .iv
v. Why we use datagtructure? \d ; )A\“ ,,.-'///' ot L IAUL A
;‘( .v/.a" .
vi. What is an Aray? N, ! # & ?g_l{:_.ﬂ Vi

1
4. Write sho{t mswers\t any four parts of the }pllﬁwﬁzg 4)(2%% -égfagtz/f”f_,mga,é&_u:usz-,u 4
i, Write domﬂl three parts of ioop -J)’//‘}téu/ufﬁuﬂ i
ii. Write general strucn\:\ré\of neste&[oop /, -J/Cf/jlmK Nested loop)ws 4 il

g Sesg s S l[url{u*u-‘:' Jil

iii. Discuss separation of task’s\m functncm, A

iv. Write limitation of function sighature. vl e 2 fS s (signature) S u’c v

v. What is the function call? Write Als‘general structure. ) // f.:f P31 Jl"¢.UUKu"C’ v

vi. Write function signature that gkes radius of a circle as input and .;wlL_...qub;b’é./biu); 7 ﬁv.,.,\.n.{m L i
returns the area of circle. st UfJ

Section-l| : (224
Note: Write answers of any two questions from the following:  (8x2=16) -if }:_.E.!i‘f. u:'lr»a.(jfa.ufd H PO

5. Define constant. Explain its types. (8) S o LaJ Uif ey Sy /’J <y 5

6. Describe the purpose and formation of escape sequence. d/u";&wcluc,df J /uywwﬂwwﬂ&ﬁ 6
Explain any two escape sequences. (2+2+2+2=8) ik /...«?Lo;

7. Write a program using FOR Loop to print word "PUNJAB" 10 ¥& /ey 2104 PUNJABEIZ 2 S _JFOR .7
times. ®) Gy

R 52-10-A
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Computer Sclence (Objective)} New Course (For all Sessions) (A U'.':/") &J:{V y ‘%f
Time:15 Minutes . TR (GROUP -I) K WV ~]—28  Marks: 10
Note:  Write answers to the questions on the objective answer sheet provided. Four possible answers are given. Which answer you consider
correct fill the corresponding circle A,B,C or D in front of each question with marker or ink on the answer sheet provided.
S Be LB e 3t nl S F K 2 0 L}lz-wié,_.) D,C,BA-:—LU?JA;LJV s
1.1 In"if" statement what happens if condition is false? -{.ﬂ‘nwﬂ:«d/gcﬁﬂﬁgﬁ CHE 1.1
(A) Program crashes :‘_.t-g-.fjﬂf;{, (B) Index out of bound error b Tag A ST st J—r}m
(C) Furthercodeexecutes < (fi223/3, (D) Compilerasks to change condifions ¢t/ kS a S
2. m;lgt;;f ut::) following statements In} (a <a16 )5, ?b{ 4 P e Sty 2
. at+:
else
if (a>4)
=
A at+ ® a—-—; (C)
3. _____isthe unique identifier, used to refer to the array: 3
(A)  Datatype AL
(C) Array size Ak sl
4. Amaycan beinitialized _____ declaration. 4
(A)  Atthetimeof D pf
(C)  Before &
3. -5
ity JeA
All UE L
6. e Pt i SBass )] 6
o (D) Firstand Last ST s
7. Every programmiri AL el POl bl
blocks and follows some bl —— L i LIl
(A) Programming rules %3 ; (B) Syntax i
() Building blocks = (D) Semanfcrles  Jsiflc
e Alistof words that are predefined and mustnotbeusedby =425 A A udina diia
the programmer to name his own variables are knownas __. B S S Ll
(A  Autowords i 9T (B)  Reservedwords )
() Restictedwords s (D)  Predefinedwords iz s ofigse &t
9. Which of the following is a valid line of code:- 18 Sty 9
(A) int =20,  (B) grade ='A"; (C) Line = Thisis a line (D) None of them LSS
0. Which operator has highest precedence among the following: el e Gi TS B <10
® ﬂ | = < > . o !
- 49-10-A
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Computer Science (ubjective) New Course (For All Sessions) SOIEDN
Time: 1:45 Hours {(GROUP —1) Marks : 40

Section - | o (24) o o
2. Attempt any four parts of the question. (4x2=8) LS Sngedd 2
() Whatis text Editor? s Lt (i)
(i) Define key words. NIy G ()
(i) Define Header Section. S s FEFE (i)
(iv) Whatis constant? sl (V)
(v) Whatis the purpose of "\n" ? fe s ¥ 0" (V)
(vi) Trace the error of the following statement. #include  Stdio. h U Jm}'ﬁ el iz (V)
3. Attempt any four parts of the question. (4x2=8) ¢ ZES S dS 3
() Define control statement. Ay N A )
(i) What is meant by selection statements? g ,g,;_‘ﬁ"‘-‘“ S (ii)
(i) Indentify errors in the following code If (age > 60) ; , e i St (i)
Print f ("Senior Citizen") ; L
(ivy What is the output of following code? | u’_,ﬂd’, S Sits (V)
(v) What is meant by array initializati Sest e 7 sy (V)
(viy How is an array element accesseé g;,scw’ Pl FS Ly i (Vi)
4. Attempt any four parts of the que : Skl 4
(i) Define Loop. i )
(i) Whatistheo an&/ _,4_”76’;/‘). st (il
(i) Whatis user defined function? Sl /t_fa.g‘ﬁ,‘&@;,;,_{ (iii)
(v) Whatis function defining? Cest plf e K @,5&3 (iv)
(v) What is argument in function? Sl Pl e d ufu’c' (v)
(vi) What do you know about function calling? Ul [_.ﬁbfu"s.;fl' (vi)
Section-ll (1
Note: Alempt any two questions from the following: (8x2=16) _q//jgyzé.:,um,‘_df Lt —ad
5. (\?gt\:t t;spg;egfné i_)ga\:]agr:]zlglzldata types? Explain three LS s 5 :@d?+:'/ Vet & 5
6.  What are logical operators? Explain with example. e SsJet i T 6
7. Write a program using FOR loop to print first five odd Jwég é,;z._ w2 S ’(_; JEOR 2 U:J o b o T

numbers.
50-10-A
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ot ‘ o {For all Sessions) .
Roll No : = to be filled in by the candidate Gmup - II Paper Code 7 8 3 .
Computer Science (Objective) New Course (@) WAL ted
e Pwper—>3
Time:15 Minutes Marks : 10
Note: - Write answers to the questions on the objective answer sheet provided. Four possible answers are
given. Which answer you consider correct fill the corresponding c:rcle A,B,C or D in front of each
question with marker or ink on the answer sheet provided.
LI B Savep L 230 nl S B A rer g J602-2E L s DCBANZS KE Jry 2ad
1. How many bytes uses a float variable in memory. Py WP AL 1-1
A) 3 B) 4 ©C 5
2. Which operator has lowest precedence among the following?
A == ®) = e +
3. Format spacifier % i show the data type:
(A) int (B) float
4. Which of the following is the condition to chec
factor of ¢?
(A) a+c==
5. In if statement what happens i
(A) Program Error
(C) Further cod =
6. How man 0 ' e ‘ saad S stt B
(A) D 5
T .q..t'ig_l.fdba‘l/'.:ﬁﬁdf Ml e 7
(A) Vari s (€ if 5 Dese gk
8. Charcd () { retum o ———"char" (£*® Charcd() {retum="2";}u1 -8
function "¢
(A) Body (% A o  (Clamay o (D) arguments /07
9. The function which are deﬁne by auseriscalled ___function.  _ &l ——y¥f le bty _zwfﬁ,, 9
(A) Builtin et (B) Userdefine fgssy (C) Library 5.7y (D) String £/
10. are the values that do not change during the whole Snddei nde L t" 7, 2 Sy 10

execution of program.

(A) Variable =i (B) Strings Ay (C) Constants u_w ¢ (D) Comments u4
S51-10-A**+



to be filled in by the candidate

Foll No

Computer Science (Subjective) New Course
Time: 1:45 Hours
- Section - I
2. Attempt any four parts of the question.
(i) Define Program.

(i) What is the use of compiler?

(iii) Describe IDE?

(iv) What is the purpose of escape sequence?

(v) Identify the error in the following
statement?

(vi)
3. Attempt any four parts of the question.
(i) Define if - else statement?

(ii) How statements are executed in sequential control.,

(iif) Indentify the error in the following code segment?

(v) What is data structure?

(vi) How array elements are acce

Note: Attempt any

5. What you know about
comments.

P

6. Define operator. Explain different types of relational

operators.

7. Write a program in C-language to print "PAKISTAN

ZINDABAD" 10 times on screen using for loop.

2

S.S.C. (Part-II) A /2023

Printf ("Sum of 243 =" 2+3);
Write the output of the following statement. Printf (" * / n ** \ p *** "2

(For all Sessions) wa ff LD %
Group - Il &) (DS Liud
Marks : 40
(24) d:l.aﬂ?
(2x4=8) ZES Skl 2

Ay mlay Q)
‘R (i)
Zu/DE (jii)

S sl E ,.C.f,F' (iv)
%IJWUH‘ S Lits W)
e I S (V)

ZS Skl 3.
i S if-else (i)

2 PFE G

7 U Litits Gid

(2x4=8)

_3&)_5(-,;: (iv)

<o Llebicy (i)
.c,'{d'ﬁzul;qj/ 4.
e WUre D (i)

S J LRI gserdT (i)
E /6P (i)

E 1 F i 1S (i)
eeieslGiibits (v

Se A Ve AR S for (Vi)

(24

the following:  (8x2=16) 1/ 7zl cthrne §f b fituried
zation? Also explain the

sl g g CRAEFS ot s

Iy }..;Tﬁ-;érm_a?__é YAy §¥ -6

104 FatbpigfLbBe L nr SJinf, o for 3
-« /44 "PAKISTAN ZINDABAD".;,

52-10-A
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® o/
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.

Marks: 10 Time: 15 Minutes &#15:=% o 104
:u:éfyzjg{ggiﬁgﬁrwéé.ﬂ)uf,C,B,A:«Uﬂ)@kéd‘:’/; gg:(é KL}I;ZU’;/"{J;;,U;?J;;,UF;T Fisis
Q.,wﬂq /=23 S GBI 3e LU E DL CBA sz VL AU dedin

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B,.C & D
to each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in
front of each question with Marker or pen ink on the, answer sheet provided.

1.1. Afloat uses______ bytes of memory: :gtfdb‘:’iu'}'l__gfdmf.:ﬁug 1.1
(A) 3 (B) 4 (C) 5 (D) 6

2. Which operator has highest precedence among the following? ?:‘_u:_tjc:,gé}d}‘.j‘/fctﬂg)_';‘@» 2
(A) / (B) = (C) > (D) +

3. Ternary operator is applied on operands: :c‘_t/(K{Jig{T ELS 3
(A) 1 (B) 2 ) 3 (D) 4 )

4. How many types of control statements in C-language? @@C@ ?q;(ﬁld';( J J#‘{J:ﬂuté;@-c 4
() 1 (B) 2 © 3 o) ©a4 _%

5. Conditional logic helps in____: @% e ok B 5

(A) Decisions s’ @Gterations ulF
(C) traversing  (t. )y ? @(D) Deletion /2%

6. Anarrayisa structure:

“ Jﬁﬁ.’ Y ALl 6

(A)loop o/ (B) Controi U (C) Data &3 (D) Condition 22
7. _______make it easier to read and write values in array: :g.t‘lgxuv'l'tog/:lwggﬁ"fbﬁ‘_;fc:_ 4
(A) Loop ¢ (B) Conditions 417 (C) Expressions 72z%i (D) Functions /56
8. Function could builtinor____: :ugén____ Lul..:.‘&uf'@. .8
(A) Admin defined 3/t (B) Serverdefined X5 |
(C) Userdefined 3.y (D) Loop ¢
9. What will be the output of the following? e st 9
void abc( ) void abc( )
{ {
printf("Pakistan"); printf("Pakistan”);
} }
(A) Punjab (B) Pak (C) Pakistan (D) Pun
10. means to transfer the control to another function: g t/)’ﬁﬂf‘%ﬁ&ﬁ@y;%__ 10

(A) Caling B¢  (B) Defining &} (C) re-writing B¢ (D) Including £

49-10-A-Yr 0
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{Roll No.___ o Slapig session 2020-2022 PaperCode | 7 | 8 | 3 | 2

Grou p-ll-h;;f

Coniputer Science (New Course)(Objective Type) (& )(u’u&')w L’jx.../

Marks: 10 QPG 2722  Time: 15 Minutes o155 107
¥ 'é/)):/v:._/m‘ﬁ‘u?ZéJDJﬂ,C,B,AQ I,Lv".’}fz.lgédfr/:éffé(_ég@ﬁu:?/"(f%)a@lﬁé:;«ULV(V“ (s
-J J/fc:_d‘_l:-d/d;f‘&ﬁt[;/’b,%?c,uf UiAhdD L C,Bc A 57 lré:/:}dlfgj f{(é_b/(}f;?
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front
of each question with Marker or pen ink on the answer sheet provided.

1.1. Include statements are written in______ section: 3%&(57006 ufu.ﬁg gf;”} Include .1.1
(A) header it  (B) main ¢4 (C) Comments (D) print iy
2. Let the following part of code what will be the value of a ?Jmf od J "a";%».’&é.xé«::g}? ‘.b,“;( 2
variable "a" after execution: '
int a=4; int a=4,
float b=2.2; float b=2.2;
a=a*b; a‘—@)@
(A) 8.8 (B) 8 (C) 8.0 © (D) 82
3. The operator "%" is used to calculate_____: o {3? :Oz‘:. t'xdb&'lg LS ___"%"/‘.47 3

(A) Pércentage Z?; (B) Reminder i, (C@@xal J_J}Q (D) Square d:/ :
4. Which of the following is a selection statement? PO u’g't"u%ﬁff‘;ufd_’sau 4

@%%while (D) do while

(A) if (B) For
5. How many types of control statement "? ?q_ranuﬁ‘ﬁ;}’/d’(u"!‘f’ (¥ o el
(A) 1 (B) 2 (C) 3 (D) 4
6. What is the size of array in this statement? ?“;.gy'wuu.;ﬁ?ug 6
(A) 1 (B) 10 (C) 11 (D) 9
7. _____ structure allows repetition of set instructions: :9.t‘::db:’lé_j_'/‘u/;up;fé.ﬁéay,g.fﬁj: 1 .
(A) Loop .;:’ - {(B) Conditional L;;' (C) Control ‘J:}f (D) Data L3
8. The functions which are available in C standard library are called___: :u__tZ..ik'( __ﬁ@zm:u_//:'um%o .8
(A) User defined %°ly3.y (B) Built-in ik
(C) recursive Gy F (D) repetiive  (/LF
9. What is the type of parameter in this function? ' ?‘alg@f’#&'f‘f l,c«':u.’fuiﬁw .9
(A) int (B) char (C) area (D) float
10. What will be the output of z: Jﬂl.«(u"»ft; z .10
int z=abc(int a=2); int z=abc(int a=2);
int abc(int x) int abc(int x)
d {
return x+5; return x+5;
} }
(A) 2 (B) 7 (C) 5 (D) 10
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ﬁoll No. : T session 2020-2022 PaperCode | 7 | 8 | 3 | 2
Group-ll-uu‘/

Computer Science (New Course)(Objective Type) (& 7 )(u’»g’.)w L"/}‘j

Marks: 10 ﬂﬂ’-g 2'2:' Time: 15 Minutes &*15:=3 10:/7
W een Wit L& Dl C BAuw,@uéwr/équ‘fu@,wﬁuuwu g
-J;/c._mquf W I3 LD L C,Be A ;7¢v£/dlym/qm;;
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B.C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front
of each question with Marker or pen ink on the answer sheet provided.

N

1.1. Include statements are written in_______section: :ulego"J ui’u% Jﬁ"} Include .1.1
(A) header .t (B) main o2 (C) Comments YD) print oy
2. Let the following part of code what will be the value of a ?tfﬂ&(og AL - PRI S 1 lo k 3 2
variable "a" after execution:
int a=4; int a=4,
float b=2.2; float b=2.2;
a=a*b; =a®
(A) 8.8 (B) 8 (C) 80 @@ (D) 8.2

3. The operator "%" is used to calculate %tndt-?’lzl:f Py "% kT 3

. : O
(A) Percentage éfz (B) Reminder iz,  (C) F@ﬁ? Jo B (D) S::gie C%/
o 27, *‘U%TUJJQ_U.’:J,;ZVJJ 4

4. Which of the following is a selection statement? .
(A) if (B) For while (D) do while
? ?q:dxu’}ffj,jﬂru"@&"c" 5

5. How many types of control statements i

(A) 1 (B) 2 (C) 3 (D) 4
6. What is the size of array in thi ?{_l[‘/’w’gﬁut.:ﬁf’w 6
(A) 1 (B) 10 (C) 11 (D) 9
T structure allows repetition of set instructions: :q.rndb“flé{ i_lﬁug,'(,fé.:fﬁay,g,’::f%’ T
(A) Loop s (B) Conditional 45/ (C) Control 32" (D) Data &}
8. The functions which are available in C standard library are called___: :u_s‘Z.lkf _}‘;:'Szru:d{ Vii-C 8
(A) User defined X3y (B) Built<in it
(C) recursive u'{zlf (D) repetitive d/lf
9. What is the type of parameter in this function? ' ?‘agf_jh@}ﬁﬁ-g)ﬁu’ﬁ;ﬂ .9
(A) int (B) char (C) area (D) float
10. What will be the output of z: IJHQ‘:‘M’: J z 10
int z=abc(int a=2); int z=abc(int a=2);
int abc(int x) int abc(int x)
{ {
return x+5; return x+5;
} }
(A) 2 (B) 7 (C) 5 (D) 10

51-10-A- Yo K



S.8.C - (Part-11)-A-2022

Roll No.._ Ipieel|  session 2020-2022
» s (dw)(w,&)u‘ L«/gg.{
49 : A Jilo & 1455,
8=4x2 zwp'q Z’u_ é( fu&'f/‘f ) 'Jké—(jfc_g}:J 3t -2
‘14'—)/“::.4})/[)"}’&//"‘ i u“‘gg"wwjdﬂu’?// R _J/d/(f//’—uff/i—— N
Ku‘l“r_.lfu'ﬁ getch( ) .vi -u:’dw("\n A" v . St el .
8=4x2 -z;,‘.i;/ggfzﬁ"&lml,géfc_utbts@, -3
L bz B i _JAB SN i -u:’”uf‘,’ K s
ool e 3T Vi sl e 7P Y Se bl T i
int b ]={6,7.,8,9,10};
for (int €=0;¢<5;{++)
printf("%d\n",b[1]);
8=4x2 4( fulL?/‘."’LrIYfzba.Jfau:J 3t -4
Sl A it i So ol S TYEL s i 2L SR
inti;
for(i=1;i<5;i++)
printf("*");
v.;_;f/n_fc,i.fdu»“m/g»&;ﬂ@ Vi -eéﬁﬁjwé ,ff’éuﬁ v ?¢J|/L(5._LJUK/f6 iv
16=2x8 r’”.a'v
/ ﬁi vmﬂﬁc—é J § 7093} u;
=2+2+242 . See s\ dp1); /J u" m;,f 5
8=2+2+2+2 2,5{_2&3 /f/’ﬂ&,fr_d[u:i;p C- //' .6
8=4+4 % ..4_/..-’/‘_}" BEﬂJg’u“’U;lf Y ;rd_fdlaw“f_«:’For 7

Computer Scienceew

Time: 1:45 Hours
2- Write short answers of any f
i. Differentiate between ==

iii. What is meant by variable initialization?
v. What is getch( ) function?Write its syntax.

3- Write short answers of any four parts from the following.

i. Write the syntax of nested "if" statement.
iii. Draw the flowchart of "if"' statement.
v. What is array initialization?

4- Write short answers of any four parts from the following.
i. Differentiate between arguments and parameters?

iii. What is meant by nested loop structure?

v. Write the structure of signature of function.

parts from the following.
operator and =operator.

m\sé)(Essay Type) Group-H

ession 2020-2022

Total Marks: 40
2x4=8

ii. Write any four examples of character constants.

iv. What are purposes of comments?

vi. Write the purpose of "\t" and "\n".

Section -1

2x4=8
ii. Define the control statement.
iv. What is nested selection structure?
vi. What is the output of code

int b[ 1={6,7,8,9,10},

for (int €=0,¢<5;f++)

printf("%d\n",b[l]);
2x4=8
ii. What is the output of the following?

inti;

for(i=1;i<5;i++)

printf("*");
iv. What is meant by to call a function?
vi. What is meant by Reusability of functions?
Section -II 8x2=16

Note: Answer any two questions from the following.

N

Write a program using FOR loop to print t

Define computer program.Describe structure of C program in detail.
Define operators. Explain any three arithmetic operators in C-language with examples.

242+2+2=8
2+2+2+2=8

able of any number. 4+4=8

52-10-A---
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X @R @A | S8.5.C-(Part-11)-A-2021
Roll No. W/ |  (For all sessions) Pape-Code | 7 | 8 | 3 ?['
| Group-l-s |

Computer Science (Ovjective Type) RwPeG-a.|

Time: 15 Minutes &&*15: O] %
L AR & oDs,.CB Autli’,@bﬁ‘)lyqua ALy /'U{j;uu;&.,mrrv ...,)

Marks; 10
LA d6dins

NOTE: Write answers to the questions on obj
each question are given.Which answer you consi

(&) U"Lf :/

u)/c—_(ﬁwu:»t/ e A e AUhD | C.Be Aszel

of each question with Marker or pen ink on the answer sheet provided.

Which of the following is not a valid subscript?

(A) NUM(10) (B) A(-2)

1.1

2. The INT is:
(A) Built-in function u’ﬁulJ (B) User defined function u’c’yw;m'
(C) Local function u’cﬁ (D) Function u'g

3. Avalue giventoa function is known as: %aﬂfddfdﬁfwﬁufr ’
(A} Arguments sl T (B) Parameters&@
(C) Input 2z (D) Ouép{@*p_b

4 Normally the computer monitor screen is in: @ :.;.Jﬁg_’/‘ﬁi.));fpﬁrb :
(A) Graphic mode u‘w_b/l/f @g%ext mode u-'-';’:f.;z?
(C) SCREEN Statement =%/ (| A\5 (D) COLOR Statement 7

5. Division by zero is: g.,(::;c./‘
{A) Syntax»error 1_/1‘}-&{ (B) Logical error /_/U?J |
{C) Runtime error /;i(’cu/ (D) Not an error 'Ji‘i_/iéf

6. GW-BASIC can operate in: 4_3‘/\:;_,5&9&5(5
(A) one mode Juir Al (B) two modes (=iiyy
(C) three modes u.'h‘ruf (D) several modes ui');’/df

7 The extension of GW-BASIC program is: e uy’gig,(r'/:g_@x‘.jd L
(A) .bas (B) .bs (C) .doc (D) .xt

8 Which control structure is used for decision making f#/ .J..):hf/..( /’d:,‘-’/ BT
in GW-BASIC? Ce b i
(A) Loop o (B) Condition o (C) Selection 3t (D) Sequence

9. A loop within another loop is calted: :;‘_L"lk(?_a:bjlﬁg:’ ;
(A) Nested Loop I (B) ¢ FOR...NEXT loop
(€) < WHILE...\WEND loop (D) Selection Structure 4305

10. The index of each element in the array is: -ﬁ;t‘ﬁg/}l(d‘:ﬁég_ll
(A) Unique 3% (B) Similar JLE (C) Odd Jb (D) Even &2

e d-‘:‘(b‘/.'./a '.../c/uu;(u: J_ it

(C) A2) (D) B(4)

Z‘LiNT )

49-10-A- R W -—-

ective answer sheet provided. Four possible answers A,B, C & Dto
ider correct, fill the corresponding circle A, B,C or D given in front
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$.5.C - (Part-1I) -A-2021
(For all sessions)

» fi’,:i"J Iyl

Roll No.

|-uJ

e»r—ér-z /
Wi ¢ JFOR..NEXT i

e A IFLTHEN. v
?u::.(;’u&ﬁ?r"_du/‘.’l:ﬂuf)lﬂ}ufb/m/[—(d;:g/'é}ri./dﬂ’/dfu Vi
8=4x2

40 : /7

8=4x2

?U:Lu,gg,[f»l/j{g:é;@,@ i
= &:@6};}: J-"'U{Jb,/c.,/ulu\r v
_Jf’?'tﬁtf.gdbi,/aﬂjﬁﬁff)/f.wiﬂufu@ i

8=4x2
g Sodprdip S
c‘Lmeé{ﬁJ’f AOVALUEG: v
L e S LSS
16=2x8

Jilo

. oS ‘,J
o)y U g
- é{ 1;452..":”
. ﬁ{fw&ii/‘gﬁpm Uka‘-d:(cufsz wa: -2

Mf..g,{}}:& N
S S 1f. . THEN. _ELSE i

L gty i s

-zg_;/::,Uﬁf':’z.’.,:zuy;,éfc,btdsw-a

RO
_éf%&"’l(‘,ﬁ"idy,‘wf*/ufz.gl i

Ly S Fiy Sl i T v
-4://{“4@33/&? Z:rf'/'!b%c— J’(C—U: Jitn-4
Y%dk#lgfﬂgf/ﬁb@! i
_u.f?tﬁf*aj/’“»c—éf i
e 6 PL0G v
43,20 |

U &fa&lﬁﬁgl}b’ua(}fcuﬁi s s
-g/”/ug:,‘,}:"’..ﬂu;{drs‘

b’;’fgj-f..‘ug)ﬁuu_'/n.éf/.’.\fdﬂig;[’ 5
B e e g T 6

2 DRAW sl e % DRAW .7

Ea 2
-z;Jv;,:f:‘"y
&
&

Computer Science Ess Ty@@ Group-|

Secti
om the following.

Time: 1:45 Hours
2. Write short answers of any four

i. Define program.
iii. Define IF... THEN...ELSE statement.

(For all sessions)
Total Marks: 40
2x4=8

i Write the syntax of FOR...NEXT loop. _
iv. Write the syntax and flow chart of IF...THEN statement.

v. How many control structures are gvailable in BASIC?Write their names.

vi_ Is it necessary far an algorithm to solve a p
3- Write short answers of any four parts from the following.
i. What is constant?
jii. Write the use of subscripted variable in array?
v. How would you fill the array?
vi. Write the name of command that generates the line num
4- Write short answers of any four parts from the following.
i, What is the use of circle statement in BASIC? . Differentiate
iii. Write the names of any two string functions.
v. What is the use of LOG function in GW-BASIC?
vi. Write the names of any two modes of displaying data in BASIC.
Section -1I
Note: Answer any two questions from the following.
5. Define Flowchart and describe six symbols of flowchart in detail.

6. What is meant by operator?Explain different operators in BASIC.

roblem in finite number of steps?If yes,Why?

2x4=8

i How to run a program in BASIC language?
iv. Differentiate between simple and subscripted variable.

bers automatically in BASIC.

2x4=8

between data file and program file.
iv. For what purpose VAL function is used in BASIC?

8x2=16

7. What is meant by DRAW statement?Explain DRAW statement with syntax and example.

RO AN.A.-



S.8.C-(Part-I1)-A-2021
Roll No. & (For all sessions) PaperCode | 7 | 8 | 3 | 4

Group-ll-v:/

; . . o/ b)/

Computer Science (Objective Type) RwP-G21 (&) J s
10:4

Marks: 10 Time: 15 Minutes & 15:23 ‘ L
Al dedizae 'M/Jfffgfﬁ‘ﬁfggéé.)DJﬂ,C,B,A&Lfﬁ.‘r@frédfﬁ:@di!ﬁu:?/’fdﬁayﬁé:amrrﬁ ‘s
e LB 32 EED |, CBe A szl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C &Dto
onsider correct, fill the corresponding circle A,B,C or D given in front

each question are given.Which answer you ¢
of each question with Marker or pen ink on the answer sheet provided.

1.1. Output of print VAL("78,city Lahore") is: kg S TJ Print VAL("78,city Lahore") .1.1
(A) city Lahore (B) 78 city (€) 78 (D) 78 Lahore
2 Which function changes the way of displaying output in BASIC? S’z‘.-,%t/;fz.{_)zi;.;.gcﬂu:_g&ﬁbuf 2

(A) SCREEN (B) PRINT (C) LEFTS (D) ABS
3. The diamond symbol represents the: @ :9.&&&@’05&2:}!5 3
(A) Inputioutput g2 3T/l (B) Decision m@ﬁx ialad
O

(C) Processing —Fxs/ (D) Re@g@iﬂl@
N

4. MODisa:
(A) Logical Operator ,P.{TJ’./?-U

% : £l MOD .4
@ Arithmetic operator .z Tl 21
A\ (D) Assignment operator O
A5 S feseasic'd ude vt it 5
?q—Jlo:dUW'

(C) concatenation operator fey T
- 5. Which of the following key is use

a file in BASIC?
(A) F3 (B) F4 ©€ rF2 (D) F1

b AR 6

(B) Instructions in order P 1

6. Sequence control structure is used to execute

(A) Loop
(C) IF...THEN (D) Logical Instruction w{ix 20

7 |F..THEN statement is a____statement: e (e SIF THEN 7
(A) decision making sl L (B) sequential U7
(C) loop (D) logical J2U

8. Maximum number of elements per dimension is: :.;.ijnﬂug;;,,y(!umﬁy.g 8
(A) 10 (B) 255 (C) 32767 (D) none of these

e Lo A2 9

9. Linear array is also called a
(B) Two-dimensional array &/

(A) Vector array :_.:l/‘f.:

(C) 3-dimensional array N5 u’ (D) Filling érray ) SB

o237 Print "ABS(-15) .10

10. The output of print "ABS(-15) is: ‘
(D) -15.5

(A) 15 (B) 15 (C) 155
51-10-A-Ye ¥



S.5.C - (Part-11)-A-2021

oll No. o Sl (For all sessions)

" uﬂf
40 : 48 Jilo

opapy OV

-Zﬁthykiﬁ/"?&rlzl/lgcéﬁ"—gﬂgf_ s -2

8=4x2
fe bk réf/uﬁ::f}: s i -u_/,//aym»&,ﬂu‘é* i ?%JWW_-/U»JJ*” Vsl b i

LS IWHILEWEND i Se e a UL G v AU ¥ IFOR-NEXT v

8=4x2 -Zﬁgfwgwf?ﬁplm!{‘:ﬂfa—uﬁdi@; -3
&Py i S SAVESU Lt i e S IDEUELy i -eéfayr’”ﬂwﬁf EELC |

feYe(Linear) A vi te e e v i fe e (I e i v

8=4x2 éf futfi/"’L;lJ’blu:,Jfa_ufJ s -4
-u_’f_.y/?JuiB}i@ng i u‘gu’d'?:fwvw‘:’ LOG .ii U ¢ CHRS |

-u_‘f..y/UJ’g vi L AL K AP RIGHTS iv

16=2x8 (n |

oY /7 f..« L?ﬁul!lru;(;fcu-’fd [l Oy

ol TSI SIE S S 1Y 6 - a,/‘}}muc,_/;.uﬂuu 5
-u,dm%{ :JJW!LJDRAWJGW BASIC .7

%SU

Computer Science (essay T Group Il (For all sessions)

Time: 1:45 Hours Section -I Total Marks: 40
2- Write short answers of any fo from the following. 2x4=8
i. What is the use of rectangle symbol in flowchart? ii. Write two causes of syntax error.

iii. How are statements executed in sequence structure? iv. Write down syntax of FOR-NEXT loop.

v. What is the use of logical operators in BASIC? vi. Write the use of WHILE-WEND loop.

3- Write short answers of any four parts from the following. 2x4=8
- 1. Write down three important features of BASIC language. ii. What is IDE in BASIC?
iii. Write method to save a program in BASIC. iv. Write any two uses of Array.
v. What is meant by element of array? vi. What is linear array?
. 2x4=8

4- Write short answers of any four parts from the following.
ii. Write the purpose and syntax of LOG function.

iv. Write the purpose of RIGHTS$ function.

i. Write the purpose of CHR$
iii. Define User-defined function.

v. Write the names of graphics modes. vi. Define pixel.

Section -II 8x2=16
.*Note: Answer any two questions from the following.
5. Draw a flowchart to find the largest of three numbers?

6. Define logical operators.Explain different types of logical operators.
7. Explain the use of DRAW statement in GW-BASIC and give an example.

52-10-A--- /}2



